ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JULY - DECEMBER 2024
MASTER ADVANCE DIPLOMA (Honors. In Clinical Study) (Sem.9)

BASICS OF HUMAN BODY (BHB-9)

TIME - 2.00 HRS MAX MARKS-100

(ONLINE EXAM)
SECTION -1

Short questions
oY 9
Attempt only four out of five (in about 50 words). 4x10=40
fr1 4 4 f5d IR el @ Sar 1

1. What is pH? Discuss in details with examples.

pH daT glaT 27 Scrsvvrafea a4t aifed |

2. What do you mean by multipolar neurons? Discuss with diagram.

sgg I R=a Fa1 gar 22 fuz afta wasnsd |

3. Write about Kyphosis of spine.
w139 1 Kyphosis & IR # fafag |

4. What is the role of ECG in diagnosis? Discuss the role of ECG
leads also.
T e H ECG @1 @am qfia1 8?7 ECG ofisd &1 a1 &)
gl HI |

5. Write about lock and key model of enzyme. Show it by a diagram.
UIISA @ did U4 @ Afsad @& dR H faRau vd g9 wfa=x
eIy |

6. Write about disorders due to deficiency of water-soluble vitamins.

ol 4 goeia faef=g & &M 4 g4 9 fdeRl & IR o
qarg |



(Section-2)
Objective questions
q¥fIse gy
All compulsory. 30x2 = 60
aHl yeal @ I IMaeASD B

. Which vitamin is essential for absorption of calcium?

(a) Vitamin A (b) Vitamin D
(c) Vitamin K (d) None
P14 41 faerf= ofeerm @ @y & fay smavas 8 —
(a) feTfi ¢ (b) faeTfim &
(c) facifim @ (d) ®ig =gl
. Which is not used in reaction-
(a) Fat (b) Enzyme
(c) Carbohydrate (d) None
3 ¥ &9 warte gfafear § arr 98 dar @ -
(a) Fat (b) Enzyme
(c) Carbohydrate (d) ®ig =gl
. Protein is composed of -
(a) Amino acid (b) Fatty acid
(c) Glucose (d) None
I 9991 BT @ —
(a) Amino acid &1 (b) Fatty acid @1
(c) Glucose T (d) &g =&l
. In“ECG” E stand for-
(a) Electro (b) Electron
(c) Endo (d) None
30 o Sflo # So &1 Aaae & —
(a) Electro (b) Electron
(c) Endo (d) ®dig -2l
. Heart rate below 60 bpm is called -
(a) Tachycardia (b) Bradycardia
(c) Arrhythmia (d) None
60 dic gfar fiic 9@ &9 g9 <X &l d8d © —
(a) Tachycardia (b) Bradycardia

(c) Arrhythmia (d) ®dig =2l



6. How many total leads are used in ECG?

(a) 12 (b) 8

(c) 6 (d) None

30 o Sho ¥ @a feadt fisa gt gt 27

(a) 12 (b) 8

(c)6 (d) &1 Tl
7. Which is a physical denaturing agent of protein?

(a) Heat (b) Wind

(c) Detergent (d) None

B9 P YIcH o) fagfa o1 wifdes aRe 8-

(a) Heat (b) Wind

(c) Detergent (d) &g T8
8. Optimum pH of enzymes which works best is -

(a)<7 (b)7

(c) Approx. 8 (d) None

Igmedd flo a0 o IR oIS 98T S Hxd 23—

(a) <7 (b) 7

(c) Approx. 8 (d)
9. Protein is soluble in -

(a) Water (b) Fat

(c) Both (d) None

qidH gorefia shar & —

(a)oTer d (b) gaT H

(c) <=l o (d) BIs -2l

10. Full form of MRl is -
(a) Magnetic resource of image (b) Mega resonance of image
(c) Magnetic resonance of image(d) None
THO 37RO TS0 HT Yof A & —
(a) Magnetic resource of image (b) Mega resonance of image
(c) Magnetic resonance of image(d) ®ig -T&l

11. Straightening of lumbar curvature is known as -

(a) Loss of lordosis (b) Loss of kyphosis
(c) Loss of scoliosis (d) None

R Hda) 3 HEm g $ ded § —

(a) Loss of lordosis (b) Loss of kyphosis

(c) Loss of scoliosis (d) ®ig -2l



12.

13.

14.

15.

16.

17.

Which speed up the chemical reaction?

(a) Protein (b) Enzymes

(c) Fat (d) None

wrafre gfafsar &1 g s 9 T —

(a) 9= (b) T=oITs™

(c) asr (d) ®1g =T
In scoliosis spine look like the English letter -

(@)CorS (b) D

(c)F (d) None

Scoliosis # spine few@ar 8—

(a) C or S ST (b) D ST

(c) F st (d) &g T8
Spondylolisthesis is the condition of the spinal vertebrae -

(a) Slip out (b) Fuse

(c) Break down (d) None

Spondylolisthesis g & #Fd] &1 —————— HEdATdl 8—

(a) Y9 € Raw®d S=n (b) 3maE # I

(c) FF® BT TeAl (d) &g =&l
Which is primary curvature of spine?

(a) Sacral (b) Dorsal

(c) Both (d) None

WIS BT gIsa) $dax & —

(a) Sacral (b) Dorsal

(c) <t (d) ®Ig I
Scurvy disease a symptom of -

(a) Vitamin A def. (b) Vitamin Bdef.

(c) Vitamin C def. (d) None

Scurvy 7T Udb @& & —

(a) Vitamin A def. &1 (b) Vitamin Bdef. &1

(c) Vitamin C def.®T (d) &g T8
Enzymes are needed in -

(a) Large amount (b) Small amount

(c) Both (d) None

TSR B IMaTAHAT il & —

(a) arfere w=T H (b) 984 H¥ WEAT H

(c) <=t (d) dig T8



18.

19.

20.

21.

22.

23.

AV node is located in -

(a) Right ventricle (b) Left ventricle
(c) Right atrium (d) None
To do s Rera &ar @ —
(a) Right ventricle® (b) Left ventricle #
(c) Right atrium # (d) &g T8
Another name of sensory neuron is -
(a) Efferent nerve (b) Afferent nerve
(c) Both (d) None
Sensory neuron &I ORI A © —
(a) Efferent nerve (b) Afferent nerve
(c) < (d) ®1g T
Which is a water-soluble vitamin?
(a) Vitamin A (b) Vitamin D
(c) Vitamin C (d) None
TP oid q goeia fderfim 2 —
(a) faerfim ¢ (b) faerf= €
(c) faerfm <t (d) ®ig =gl
Ventricles of brain is lined by -
(a) Astrocytes (b) Ependymal cells
(c) Microglia (d) None
ARkdss & Ventricles91 8Id 82—
(a) Astrocytes & (b) Ependymal cells®
(c) Microglia & (d) &g T8
What is another name of vitamin B1?
(a) Riboflavin (b) Nicotinamide
(c) Thiamine (d) None
faerfe &t 1 &1 gar W 2 —
(a) Riboflavin (b) Nicotinamide
(c) Thiamine (d) ®dig =&l
In ECG graph, X axis shows -
(a) Time (b) Voltage
(c) Speed (d) None
30 o Sflo Ut ¥ “yaw vfeaw” W <@r irar @ —
(a)Time (b) Voltage

(c) Speed (d) &g L



24.

25.

26.

27.

28.

29.

Purkinje fibers supply impulses to -
(a) Muscles of right atrium (b) Muscles of ventricles
(c) Both (d) None
QRfPS BIgar FaAT MYfef HRar © —
(a) Muscles of right atrium @1 (b) Muscles of ventricles®i

(c) gi=Y (d) ®Ig &

Abbreviation “CAD” is used for -
(a) Coronary artery disease (b) Common artery disease
(c) Carotid artery disease (d) None

i 9™ "CAD” 9AI Bidl @ —

(a) Coronary artery disease (b) Common artery disease

(c) Carotid artery disease (d) ®dig &l
Cause of macrocytic anemia is -
(a) Vitamin A def. (b) Folic acid def.
(c) Vitamin C def. (d) None
Macrocytic anemia T ®RoT BldTl a—
(a) Vitamin A def. (b) Folic acid def.
(c) Vitamin C def. (d) &g T8
Which vitamin is produced by intestinal bacteria?
(a) Vitamin A (b) Vitamin B
(c) Vitamin K (d) None
S a1 faerfiq anal @ ShamEl gRT =1 fear mar @ —
(a)freTfr | (b) fareTf
(c) faeTfm @ (d) ®ig =gl
Hormone GH (Growth hormone) is secreted by -
(a) Testes (b) Pituitary
(c) Ovary (d) None
Hormone GH (Growth hormone) -T® 8RHAIA Gfdd gidr 8 —
(a)Testes | (b) Pituitary &
(c) Ovary & (d) ®ig =gl
“P wave” arises from -
(a) SA node (b) AV node
(c) Bundle of his (d) None
“P wave” Sca— &Il 2—
(a)SA node & (b) AV node s

(c) Bundle of his & (d) ®ig =gl



30. Astrocytes are -
(a) Glial cells
(c) Muscle cells
Astrocytes gd & —
(a) Glial cells
(c) Muscle cells

(b) Neural cells
(d) None

(b) Neural cells

(d) &I &l




ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JULY - DEC 2024

MASTER ADVANCE DIPLOMA (Honors. In Clinical Study) (Sem.9)
CHINESE ACUPRESSURE (CA-9)

TIME - 2.00 HRS MAX MARKS-100

(ONLINE EXAM)
(Short Questions)

(erg we)

Attempt only four questions out of following six: 4x10=40
fodf ar 9eAl @ SR Q-

Qu.1.  Write short note on Tri Sutra and Five action organ.

BrE vd uig dfea w At feweft fafert |

Qu.2. Write about Arms Correspondence to Neuron.

<RI | BT DI FGIdl & IR d faRad |

Qu.3. Write about organ plotting on ‘V’ joint and ‘K’ joint of all ten
fingers.
BT P &9 Sferdl @ V' joint AR K joint IR IF@ud B
Plotting ® aR & fafRa |

Qu.4. Write short note about Vit-D.
Vit-D & 9R ¥ Gféra fewoft foarRead |

Qu.5. Write about loss of Spinal curvature.

A o) s # g2 a1 @ IR A faRad |

Qu.6.  Write about “10 Niyam”.
“10 fraw & IR # fafad |

(Section-2)
Objective questions
q¥fse ywA

All compulsory. 30x2 = 60
Hl YTl @ IR ATaS B



(1) “Glial cells” is a part of -

(a)Brain (b) Heart
(c) Lung (d) None
“Glial cells” T& AT 38—
(a)aRass &1 (b) g<a &1
(c) BB T (d)pig &
(2) According to Body region ‘Rt upper back part’ related point is -

(a)Si-8 (b) Si-10
(c)Si-3 (d) None
IR & &A1 AT & IgER ‘Rt upper back part’ | wHfad fag 23—
(a)Si-8 (b) Si-10
(c)Si—-3 (d) ®dig gl

(3) YNM treatment point for Gonads is -
(@)Tw- 0 (b) Si-1
(c)Li-1 (d) None
Gonads &1 YNM SUaR fa=g 38—
(@)Tw-0 (b) Si-1
(c)Li-1 (d) &g T8

(4) Hearing is related to-
(a)Temporal lobe (b) Frontal lobe
(c) Occipital lobe (d) None
g 9 gwfua 2—
(a)Temporal lobe (b) Frontal lobe
(c) Occipital lobe (d) ®dig gl

(5) Tinnitus and ear pain will be treated by -
(@)Tw-0 (b) Tw -1
(c) Tw-2 (d) None
P H AES M Y4 & H q& BT SUAR BTT—
(@)Tw-0 (b) Tw - 1
(c) Tw-2 (d)y®ig -2l

(6) Stiffness of back and constipation will be treated by -
(a) Tw-2 (b) Si-0
(c)uB-2 (d) None
8 & TRb Ths Ud dfeorad T SUAR BIIT—
(a)Tw-2 (b) Si-0
(c)UB -2 (d) ®dig gl

(7) Occipital lobe related sense is-
(a)Vision (b) Taste
(c)Touch (d) None



Occipital lobe & W ferd a9 28—

(a)gfe (w) (b) ¥t
(c) wuet (d) ®1g =Tl
(8) As per Zone therapy Zone-1 related organ is-
(a)Urinary Bladder (b) Appendix
(c) Lung (d) None
Zone therapy @ ¥R Zone - 1 ¥ WfEd 3@uq 2—
(a) gATI™ (b) srufrea™
(c) BHe (d) Big el
(9) Nail biting and kidney stone will be treated by -
(a)Si—2 (b)K-0
(c)Li—2 (d) None
G $leAT gd fes 4 geril &1 SuaR -
(a)Si-2 (b)K-0
(c)Li-2 (d) &g T8
(10) Treatment of Frontal lobe will be on -
(a)Index finger (b) Thumb
(c) Small finger (d) None
Frontal lobe &T SUAR EHIT—
(a)asi=it & (b) TS H
(c) sfifSs®dr # (d) ®dig gl
(11) According to Body region, Lu-7 point is located on-
(a)Rt upper back (b) Lt upper front
(c) Rt upper front (d) None
IR & a3 9T & o aR Lu-7 fag Rera 2-
(a)Rt upper back (b) Lt upper front
(c) Rt upper front (d) &g &Y
(12) Pain in waist will be treated by -
(@)Lu-0 (b)H-0
(c)uB-2 (d) None
SR H ¢ T SUAR BHM—
(@)Lu-0 (b)H-0
(c)uB-2 (d) &g TE
(13) Corpus callosum is plotted on -
(a)Thumb (b) Index finger
(c) Small finger (d) None
Corpus callosum @ Plotting 2—
(a) TS o (b) asi=ft &

(c) ®fIfRssr & (d) dig Tl



(14) Problem of cervical will be treated by-

(@)Li—2 (b)K-2
(c)Si-0 (d) None
TET Y IAAT &I SUAR BT
(a)Li-2 (b)K -2
(c)Si-0 (d) &g TE
(15) Fearfulness will be treated by-
(a) Li-1 (b)K-0
(c) Si-2 (d) None
“HY" BT IUAR BMT—
(@) Li-1 (b)K-0
(c)Si-2 (d) &g TE
(16) Disease of Parietal Lobe will be treated on-
(a) Middle finger (b) Thumb
(c) Small finger (d) None
Parietal Lobe & I &I SUAR EHIT—
(a) wiegs T § (b) TS H
(c)Bfifs®T # (d) &g T8
(17) Inflammation in prostate will be treated by-
(@)Lu-0 (b)UB -2
(c)Li-0 (d) None
giee # Yo &1 SUaR 8-
(@)Lu-0 (b)UB -2
(c)Li-0 (d) ®dig gl
(18) Reduction of urinary bladder will be treated by -
(a)uB -2 (b) Si- 1
(c)Li-1 (d)None
AT & BIC 81 $T ITAR s
(a)uB -2 (b) Si-1
(c)Li— 1 (d) &g T8
(19) Spine problem will be treated on —
(a) Ly RF (b) RtIF
(c) Rt SF (d) None

W3 & 9T BT SUAR BIT—
(a)arfi IATfieT § (b) <1fE=h asi=h 4
(c) arfe-h sfaflsdr & (d) ®ig T

(20) Dryness of throat in night will be treated by-
(a)uB -2 (b)K-2
(c)Lu-1 (d) None



afy § T Y@ &1 SUAR B-

(a)uB -2 (b)K-2
(c)Lu-1 (d) ®dig gl
(21) Rich source of Vit-D is —
(a) Sunlight (b) Water
(c) Fruit (d) None
Vit-D 9T & BT 36T IAld 8—
(a) g gorem (b) St
(c) ® (d)ybis -TeT
(22) Deficiency of blood will be treated by-
(@)Ci-1 (b)UB -2
(c) Tw-2 (d) None
ad &1 HH BT SUAR SHIT—
(@) Ci-1 (b)UB -2
(c) Tw-2 (d) ®Ig TE
(23) Which vitamin will be used for excessive bleeding -
(a) Vit- A (b) Vit - K
(c)Vit-B (d) None
eI YqadTd # e faef= &1 suahT gm-
(a) Vit-A (b) Vit - K
(c) Vit- B (d)y®ig =21
(24) Neuro power chakra is -
(a) Ly (b) AD
(c)ND (d)None
Neuro power ds$ 28—
(a) Ly (b) AD
(c) ND (d) &g T8
(25) Mouth breathing will be treated by-
(a) Lu -1 (b)uB -2
(c)Si-2 (d) None
9 ¥ ¥919 o1 & SUAR B—
(a) Lu-1 (b)UB -2
(c)Si-2 (d) &g T8
(26) Hormonal power chakra is-
(a) OR (b) ND
(c) Tw (d) None
Hormonal power @sh 2—
(a) OR (b) ND

(c)Tw (d) o131



(27) Low immunity will be treated by-

(a)Sp-0 (b) UB - 2
(c)Li-2 (d) None
INT gfoRias &9dar &9 g1 &1 SUIR gH—
(a)Sp-0 (b) UB -2
(c)Li-2 (d) &g TE

(28) Metabolic health chakra is-

(a) ND (b) Liv
(c) OR (d) None

Metabolic health @ 2—
(@) ND (b) Liv
(c) OR (d) @13 =Tl

(29) R.B.C. related point is-
(a)Sp-0 (b) Tw-2
(c)GB -2 (d) None
R.B.C. ¥ wHfea fag 2-
(@)Sp-0 (b) Tw-2
(c)GB -2 (d) &g TE

(30) Problem of side of body will be treated by-
(@)Li-0 (b) GB -2
(c)Si-0 (d) None
IR D Uh AR B dbell® &1 SUAR SHMT—
(@)Li-0 (b) GB - 2

(c)Si-0 (d) &g 2



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JULY — DEC 2024
MASTER ADVANCE DIPLOMA (Honors. In Clinical Study) (Sem.9)

AYURVEDIC ACUPRESSURE (AA-9)

TIME - 2.00 HRS MAX MARKS-100
(ONLINE EXAM)

SECTION -1

(Short questions)
(g ue)

Attempt only four questions out of six: 4x10=40
ffl AR g @ Saax dfoA:

Qu. 1. Write the names of 4 meridians of Dr. Voll located in foot. Also show its
locations in diagram.

iR H yarfzd g9 drell S0 a1 @) 4 aRfeaw &1 7w fafRgd qon = o
9T |

Qu.2. Show these points in diagram - YNM - OR - 012
Heart — 012
Si-012

31 fagan &1 o A <wrisa- YNM — OR - 012
Heart — 012
Si-012

Qu.3. Write the names of water soluble vitamins.

o | goeha faerfiat @ am fafet |

Qu.4. Show these points in diagram — Lt IF — 012 Spm - 1459 036871.
s fa=gerl &1 fa= # <wisd — LtIF - 012 Spm - 145903681

Qu.5. Write the treatment of Diabetes by YNM points. Show it in diagram.
YNM & fd=gail gRT #gdE &1 SuaR fafed | foa 4 <wisd |

Qu.6. Show these points in diagram — Both MM — 01368124579
s fager &1 o= o gwisd — Both MM — 01368124579



(Section-2)
Objective questions

ERIBLSIURE |
All compulsory. 30x2 = 60
Gl yel & SR AaWD &

(1) Ly Meridian flows in -
(a) Index finger (b) Ring finger
(c) Thumb (d) None
Ly aRf$a= &1 yare 8-
(a) ast-ir el A (b) et Sivgelt o
(c) 33 7 (d) ®ig =gl

(2) Kaph is the combination of which organs -
(a) Lungs + Heart (b) Kidney + Spleen
(c) Liver + Kidney (d) None
&% BT srqual &1 Gahr 8 —
(a) BBs + gad (b) & + wfizT
(c) IgHd + Id (d) BIg T8

(3) Smell and taste is related to which lobe of the brain -
(a) Parietal lobe (b) Temporal lobe
(c) Frontal lobe (d) None
g 9 Wis aRkass @ fea vrT 9 wefaa 8 —
(a) IRIsed @vs (b) SHuiRa @vs
(c) wed @vs (d) Bis

(4) Ci Meridian flows in -
(a) Middle finger (b) Ring finger
(c) Small finger (d) None
Ci Meridian varfga st 8 —
(a) W Il | (b) ar=TRY®T Il A
(c) sffRe®T el 4 (d) &ig

(5) Treatment of GB cancer will be on-
(a) Lt MF all LVM (b) Lt IF all LVM
(c) Lt SF all LVM (d) None
e & ¥R &1 SYAR 8T —
(a) Lt MF all LVM (b) Lt IF all LVM
(c) Lt SF all LVM (d) &g T8

(6) Fat soluble vitamin is -
(a) Vit B+ (b) Vit — B-12
(c) Vit- A (d) None



(7)

(8)

9)

(10)

(11)

(12)

ga1 9 gaefa faerfi= @ -

(a) Vit B+ (b) Vit -B- 12

(c) Vit— A (d) BIs T
Occipital lobe will be treated on - -

(a) Both SF all jts (b) Both IF all jts
(c) Both MF all jts (d) None
arfifiee dlg &1 SUaAR 8HIT —

(a) Both SF all jts (b) Both IF all jts
(c) Both MF all jts (d) &g =&l
Which one is Yam - -

(a) Meditation (b) Donation

(c) Bathing (d) None

I B -

(a) &g (b) <=

(c) == (d) ®BIg T8
Pancreas meridian flows in -

(a) Rt Big toe (b) Index finger
(c) Small finger (d) None
Pancreas meridian yarfaq sidl 8 —

(a) <1fes 4R & 37S 4 (b) ast+i sivgeht @
(c) BfRs®T el | (d) Bis gl
Blood & Plasma tissue joints are plotted on -

(a) Both RF P jts (b) Both MF P jts
(c) Both IF P jts (d) None

Yad 9 39 g1g aHefea os Rea € — —

(a)Both RF P jts (b) Both MF P jts
(c) Both IF P jts (d) Bis gl
Treatment of Scoliosis will be on -

(a) Lt RF 1278 Spm (b) Lt MF 34 Spm
(c) Lt SF 34 Spm (d) None
Scoliosis &T S9AR ERIT —

(@) Lt RF 12 78 Spm (b) Lt MF 34 Spm
(c) Lt SF 34 Spm (d) ®BIg T8

Skin disease will be treated on -

(a) Both RF P jts (b) Both MF P jts
(c) Both SF P jts (d) None

gH INT BT SUAR BT —

(a)Both RF P jts (b) Both MF P jts

(c) Both SF P jts (d) ®BIg T8



(13) Which is known as ‘Metabolic Health Chakra’ -

(a) Heart (b) Liver
(c) Kidney (d) None
‘IATIFY ey dh’ fod ded & —
(a) €<d (b) g
(c) & (d) Bis gl
(14) Water soluble vitamin is -
(a) Vit-D (b) Vit - K
(c) Vit — B2 (d) None
el A georefie faerfi= @ —
(@) Vit-D (b) Vit - K
(c) Vit—B12 (d) BIg T8
(15) Treatment of Constipation is RT SF — 5" Spm - -
(a) 45]3781 (b) 241567
(c) 3415671 (d) None
Ffestad &1 SygrR &9 RT SF — 5" Spm - —
(a) 453781 (b) 241567
(c) 34561 (d) ®BIg T8
(16) ‘Acute inflammatory’ treatment is — Both MM -
(a) 34156 (b) 01368245791
(c) 36145] (d) None
‘Acute inflammatory’ su=aR g+m — Both MM -
(a) 34156 (b) 01368245791
(c) 36145] (d) ®1g Tl
(17) Protocol to set navel is Toe No. 0- -V jt -
(a) 250171 (b) 271361
(c) 12156 (d) None
A1 48 &1 Su4aR g1 — Toe No. 0-V jt -
(@) 250177 (b) 2713671
(c) 12156 (d) ®Ig el
(18) Treatment of LI/Si will be on -
(a) Both MF V jts (b) Both RF V jts
(c) Both SF V jts (d) None
Li/Si &1 SyarR 8-
(a) Both MF V jts (b) Both RF V jts
(c) Both SF V jts (d) Bis gl
(19) Which organ is known as ‘Urogonadal Health chakra’ -
(a) Heart (b) Urinary Bladder

(c) Lungs (d) None



YA ST R °h © —

(a) €<d (b) TATeTH
(c) BB (d) P1¢ =T
(20) Treatment for belching is -
(a) Lt MF — 012 Spm (b) Rt MF 789 Spm
(c)LtIF - 012 Spm (d) None
SHR &1 IUIR NI — -
(a) Lt MF — 012 Spm (b) Rt MF 789 Spm
(c)LtIF - 012 Spm (d) ®1$ &
(21) To increase Hemoglobin, treatment will be given on -
(a) Both IF (b) Both MF
(c) Both SF (d) None
THRAIT 9g &1 IUAR BRI
(@) I asisil W) (b) =41 e T WR
(c) a1 BfflsdT W (d) ®1g ¥
(22) Fat Health Chakra Meridian flows in -
(a) 1%t toe (b) 4" toe
(c) 2" toe (d) None
Fat Health Chakra Meridian yarfad &idt @ —
(a)UR & ggell el A (b) R BT dleft SiTgelt §
(c) UR &1 a3 AT A (d) dI$ =1
(23) Treatment of Heart disorders will be done on -
(a) Both MF -V jts (b) Both RF — P jts
(c) Both IF/SF — K jts (d) None
g<d gHfEd AT &1 SUAR NIT —
(a) Both MF -V jts (b) Both RF - P jts
(c) Both IF/SF — K jts (d) dig LI
(24) Cold and cough will be treated on -
(a) Lu/Ly - 012 (b) Liv/iH-012
(c) Kid/UB - 012 (d) None
|4l M &1 SUAR NI —
(a) Lu/Ly - 012 (b) Liv/iH-012
(c) Kid/UB - 012 (d) BIs 18
(25) Parietal lobe is plotted on -
(a) Both SF — all Phalanx (b) Both MF — all Phalanx
(c) Both IF — all Phalanx (d) None
URIged ol Rea 2 -
(a) Both SF — all Phalanx (b) Both MF — all Phalanx

(c) Both IF — all Phalanx (d) Bis gl



(26)

(27)

(28)

(29)

(30)

Which one is Niyam -

(a) Sanctity (b) Non-violence
(c) Silence (d) None

e 4 @9 fam @ —

(a) gfa=ar (b) arfar

(c) i (d) ®1g Tl

AD meridian flows in -

(a) Middle finger (b) Ring finger

(c) Small finger (d) None

AD meridian varfga &t @ —

(a) HEAHT el (b) sr=feT St
(c) Bffs®T Sipeft (d) Bis gl

If patient is feeling cold, what protocol will be applied -
(a) 361457 (b) 24156

(c) 24367 (d) None

Ife I S gHa PR BT 2 Al I G SUAR Yde Ygad BT —
(a) 361457 (b) 24156

(c) 241361 (d) &g L

Bone and Bone marrow tissue related joint is -

(a) Both RF P jts (b) Both MF P jts
(c) Both IF P jts (d) None

Arfker 9 siRerisur grg wwfed ol 2 —

(a) Both RF P jts (b) Both MF P jts
(c) Both IF P jts (d) &g =&l

Pitta is the combination of which organs -

(a) Kidney and Spleen (b) Liver and Kidney
(c) Lungs and Heart (d) None

foca fo<1 sragal &1 |@IhTr 2 —

(@) 1< T wi=r (b) agpa a S

(C) B%S d ged (d) ®Ig L



